
  23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016 
 

www.cobrausa.com  

06/01   

 

*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

2) 8mm x 35mm Hex Bolts 
2) 5/16” x ¾” S/S Button head Bolts 
2) 5/16” Locking Hex Nuts 
4) 5/16” Flat Washers  

Application(s) > 

VT1100 SHADOW 87-96 
VT1100 SPIRIT 97-07 
ACE 95-99 
VTX1300R/S 03-08 
VTX1800C/R/S 02-07 
 

Instruction Manual > 

1. Remove the two bolts that mount your head light assembly to the lower triple clamp.  Bolt the relocater bracket to 
your Cobra Light Bar using the supplied hardware.      

2. Install the relocater bracket in between the head light mount and the lower triple clamp.  Make sure your wiring is 
routed properly and your lighting is correctly adjusted. 

 04-0030 

DOCUMENT NO.  0019 REV. B 

  23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016 
 

www.cobrausa.com  

06/01   

 

*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

2) 8mm x 35mm Hex Bolts 
2) 5/16” x ¾” S/S Button head Bolts 
2) 5/16” Locking Hex Nuts 
4) 5/16” Flat Washers  

Application(s) > 

VT1100 SHADOW 87-96 
VT1100 SPIRIT 97-07 
ACE 95-99 
VTX1300R/S 03-08 
VTX1800C/R/S 02-07 
 

Instruction Manual > 

1. Remove the two bolts that mount your head light assembly to the lower triple clamp.  Bolt the relocater bracket to 
your Cobra Light Bar using the supplied hardware.      

2. Install the relocater bracket in between the head light mount and the lower triple clamp.  Make sure your wiring is 
routed properly and your lighting is correctly adjusted. 

 04-0030 

DOCUMENT NO.  0019 REV. B 


